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a) Parametrize the curve
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with respect to its arc length parameter s starting t = 0.
b) Prove that if 
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SOLUTIONS

a) 
Firstly let’s calculate the tangent vector:
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b) 
Let 
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 is an arbitrary representation of this curve, then:
Since 
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Here we get:
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Therefore:
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where 
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 is a constant.
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Show that
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is a natural representation.
SOLUTION

We have to show that 
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For the parametrized curve
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find the equation of the tangent line and normal plane at 
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SOLUTION

Firstly let’s find the point to find the tangent line at 
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Secondly we will find the tangent vector:
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Lastly find the tangent at point 
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So the equation of the tangent line is:
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where
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In second part we will find the normal plane at 
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The formula is given by:
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Then by using the formula we could find the normal plane as:
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Lastly the normal plane equation at 
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Let 
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Since 
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Let’s integrate the equation according to t:
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Here 
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 is a fixed vector, so:
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When we use 
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Then 
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 must be zero. Hence,




[image: image63.wmf]0

)

(

=

×

v

t

r

r

a



for all 
[image: image64.wmf]I

t

Î


_1234128659.unknown

_1234145298.unknown

_1234568611.unknown

_1234568622.unknown

_1234568651.unknown

_1234568781.unknown

_1234568782.unknown

_1234568675.unknown

_1234568629.unknown

_1234568618.unknown

_1234145474.unknown

_1234145601.unknown

_1234145652.unknown

_1234145688.unknown

_1234145549.unknown

_1234145409.unknown

_1234131962.unknown

_1234132710.unknown

_1234132821.unknown

_1234132984.unknown

_1234133057.unknown

_1234132826.unknown

_1234132772.unknown

_1234132075.unknown

_1234132544.unknown

_1234131970.unknown

_1234131520.unknown

_1234131594.unknown

_1234131931.unknown

_1234131526.unknown

_1234130698.unknown

_1234130879.unknown

_1234131426.unknown

_1234130681.unknown

_1234127376.unknown

_1234127818.unknown

_1234127820.unknown

_1234127801.unknown

_1234127548.unknown

_1234127654.unknown

_1234127711.unknown

_1234127762.unknown

_1234127684.unknown

_1234127602.unknown

_1234127462.unknown

_1234126950.unknown

_1234127046.unknown

_1234127129.unknown

_1234126923.unknown

